T2 R

BRPYF 2P IV IEFES(T0Y D FERR

=5 BEHYR)—ERE - AO—2(6865Yards Par 72)
HAH | Ei21858148
IVEU—: 108%
Hi% . 1008
590 2 FiE 237 59 2 s 237
1 P RA B 72 (36.36) 0%y 1IE8F B 83  (42.41)
2 U FE A 74 (39, 35) P I ®HiF 83  (42.41)
3 XKH EWH t#HsET 75 (38.37) felll .F%  ®B.% 83  (40.43)
4 INI| BEE e~x-nuzsoz 77 (39.38) REES BBl miE 83  (40.43)
WO #Bth  m=gEeER 77 (38.39) TN ERE Ezs 83  (37.46)
Elg MR FEEE 77 (37.40) 46 Q)i 3 RERL 84 (44, 40)
7 hEO fBARE #iTs 78 (40, 38) REAN [E— tiris 84 (42,42
26 R =t 78 (40, 38) ik HA  Ezs 84 (42,42
BR R BES 78  (39.39) g0 mE #R 84 (41,43
NI i 78  (39.39) P Esh HIFE 84  (41.43)
RS #— B2 78  (39.39) SH 3A8  BAE 84 (40, 44)
- ME TEBEBE — =8 F =HOZER 84 (40, 44)
ANE BAEAKX 78  (38.40) 53 DIl 18c -vvsrx 85 (48,.37)
B = )\ 78 (38, 40) KR EE EAm 85  (44,41)
14 HIE B8 wrE 79 (40, 39) BARE— e 85 (43,42
INFA BE chREEEK 79 (39, 40) M4 1858 suvzemyr 85 (43,42)
BARARBE =RE 79 (39, 40) ) E— =8 85  (42,43)
ARE0 %2 am 79 (39, 40) 2T B ATz 85  (42,43)
18 BSEE  AHLRZPY 80 (41,39 EES =B mE 85 (41, 44)
PBT & Lrvm—enxz 80 (40, 40) B —% FE=E 85 (41, 44)
LS BBE BARE 80  (39.41) 61 A HE  U-EEW 86  (45.41)
H FBH 80  (39.41) MR & H.UrO2 86 (44.42)
[R MR e 80 (39,41 J\KRIB & orviLzs— 86 (44,42
FEfE— ALRrRz=PY 80 (38.42) SR F0R 7#—2-eux 86 (43.43)
24 5B £F  BR 81 (46, 35) EEL =R UEsW 86  (42.44)
olF XX $w 81  (43.398) 7205 U= Nt Y= 86  (42.44)
EF ¥ Tz 81  (41.40) R Ghe =xRAB® 86  (42.44)
T8 K mE 81 (41,40 ZEBF = 86 (41, 45)
fZp =B %85 81 (39,42 69 HE 82 IBEH 87  (47.40)
29 BH F— F==R 82  (45.37) B RS wumorsSves 87 (45.42)
=5 2 LY RSIL 82  (43.39) ZFAR RIE &£/ 87  (44.43)
=R X EmFE 82  (43.39) =8 BE #=x 87  (44.43)
*IA\ZF 5%: 5= 82 (42. 40) IJJIJJ%j _% AT - EHELILZ - 87 (42. 45)
WHB B8 B%K 82 (42, 40) R BFE Fz=03 87  (41.46)
550 85%%  #“R 82  (41.41) R BE— AR 87  (41.46)
ETIB M ®R 82  (41.41) Nig S FE=EE 87  (39.48)
58 RE  2UEE 82  (40.42) 77 INII &R HFE 89  (48.41)
A E6 T 82 (40,42 =S8 EF BN 89 (47,42
KRR $6—BR BEFH Y 82  (39.43) HEM— mxz 89 (47,42
39 AW F— ok 83  (42.41) aH A #HE 89  (46.43)
i B Era 83  (42.41) INFK TT renzosveius 89 (45, 44)

VA FiE 237
ME BT tHEt 89  (43.46)
e IFE esE 89  (43.46)

84 KE SB— wr@ 90 (46, 44)
&l f#s FEEK 90 (46, 44)
£9K B3 2 90 (42, 48)
IE X )| 90  (41.49)

88 AREBE B—BB FE=ig 91 (49,42
Bl &E nHIx 91  (47.44)
AU RE  Jussemyr 91 (47.44)

91 I\F9 B A 92  (47.45)
ol B8 = 92  (45.47)

93 B¥E Bfc = 94  (44.50)
Bl i  Fz=E 94  (43.51)

95 KA Ml AR 95 (49, 46)

96 AAY T  ALRZPY 96 (49,47
HERAE 2 FE=R 96 (47, 49)

98 WE EX U EEHW 99 (50, 49)

£ R —K  AEK 107 (57.50)

zig RO TS  wom

xig I\VMR 1B Lo VR—

xi5 R H Lo Umh—

x5 T EE0  PREEE

x5 BB A0 mOv

x5 %) & Lo VR—

x5 I\ BB Py

xig NI 1G58 #B5=

xiE HE — R



